जोधपुर नगर निगम–दक्षिण

कमांक:- न.नि.जो.-दक्षिण/विकास/2022-23/350

दिनांक:- 22/7/2022

ः ई-निविदा सूचना ः

(UB No. .....)

नगर निगम जोधपुर-दक्षिण की और से निम्नलिखित कार्यो हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / स्वायतशाषी / निगमों / बोर्डो / राजकीय उपक्रमों में पंजीकृत ए.०ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर में निर्धारित श्रेणी में पंजीकृत नियमानुसार योग्य संवेदको से निर्धारित प्रपत्र में ई-निविदाएं आमंत्रित की जाती है।

### महत्वपूर्ण दिनांकों का विवरण

अॉन लाईन निविदा फार्म जमा कराना प्रारम्भ होने की दिनांक व समय	दिनांक ,
	25.07.2012 1230 PM
ऑन लाईन निविदा फार्म जमा कराने की अन्तिम दिनांक व समय ऑन लाईन निविदा खोलने की तारीख	05.08.2022 /11.0 AM
निविदा शुल्क /धरोहर राशि की मूल प्रति अभियन्ता शाखा कार्यालय में जमा कराने की दिनांक व समयावधि	11 - 1 / 4 - M PM
का विनाय व समयावाद्य	" /3. « PM

### निविदा का विवरण निम्न प्रकार है :-

क्रं.सं.	कार्य का नाम	कार्य की अनुमानित लागत (लाखों में)	धरोहर राशि	निविदा शुल्क	कार्य पूर्ण करने की अवधि
1	Transportation of trees from DMRC office to SUN ART along with university nallah, jhalamnd	25.06	50,120/-	500/-	3 Month
2	Constrution of Indira Rasoi at (A) K.N. Chest Hospital area. (B) Gujarati Colony Junction, (C) Dali Bai Quarter in jmc south	17.48	34960/-	500/-	3 Month
3	Construction of Indira Rasoi (a) Shikargarh mini market (B) Kalvi Pyau bus stand (c) Digadi T Junction (Police Chowki ke bayi traf), (D) Koks kutir pyau in JMC South	23.30	46600/-	500/-	3 Month
4	Construction of Indira Rasoi (A) Jhalamand Circle, (B) Main Railway Station (C) Bhati Circle and Ratanada Sabji Mandi, (D) Amrita Devi Circle (Park) in Jodhpur Nagar Nigam South	23.30	46600/-	500/-	3 Month
5	Const. of cc road kheme ka kua colony near M.R. Tyre and various places of ward no. 20 south zone	26.24	52480/-	500/-	4 Month

### निविदा की महत्वपूर्ण शर्ते निम्नानुसार है :-

1 ई-निविदा प्रपत्रों को वेबसाईट http://eproc.rajasthan.gov.in से डाउनलोड किया जा सकता है। इन ई-निविदाओं में भाग लेने वाले संवेदकों को निविदा को इलेक्ट्रोनिक फॉरमेट में वेबसाईट http://eproc.rajasthan.gov.in पर जमा करानी होगी।

ई-निविदा की प्रकिया ऑन लाईन होगी।

नगर निगम जोधपुर में पंजीकृत अथवा अन्य विभाग में पंजीकृत संवेदकों को भी अपने पंजीयन दस्तावेजों को संबंधित पंजीयन अधिकारी से रिव्यू करवा कर प्रस्तुत करना होगा। पंजीयन अथवा रिव्यू दस्तावेज निविदा जमा कराने की अंतिम तिथि पर दो वर्ष से अधिक पुराना होने पर मान्य पंजीयन के अभाव में निविदा निरस्त कर दी जाएगी।

4 ई-निविदा हेतू पात्र संवेदको की श्रेणी -

किसी भी सीमा तक - एए श्रेणी, संवेदक रूपये 300.00 लाख तक – ए, श्रेणी संवेदक रूपये 150.00 लाख तक - बी, श्रेणी संवेदक रूपये 50.00 लाख तक - सी, श्रेणी संवेदक रूपये 15.00 लाख तक – डी, श्रेणी संवेदक

- ई-निविदा खोलने की तिथि को किसी कारणवंश यदि सम्पूर्ण निविदायें नहीं खोली जा सकती है, तो उसके अगले कार्य दिवस को शेष निविदायें खोलने का कार्य जारी रखा जावेगा।
- ई-निविदा प्रकिया -

कार्य पोटेशियल असेसमेंट सडक

अन्य निर्माण कार्य

100 लाख से 500 लाख तक 100 लाख से 200 लाख तक

पोस्ट क्वालीफिकेशन 500 लाख से 2000 लाख तक

200 लाख से 1000 लाख तक निविदादाता द्वारा निविदा शुल्क, धरोहर राशि एवं प्रकिया शुल्क हेतु निम्नलिखित राशि कि मूल प्रति जोधपुर नगर निगम कार्यालय में नियमानुसार निविदा खोले जाने के समय से पूर्व जमा करवाना आवश्यक है। निम्नाकिंत कम सं. 3 के कॉलम सं. 5 में अंकित अनुसार किसी प्रकार की त्रुटी पाये जाने पर संवेदक की निविदा कॉपी निरस्त कर दी जायेगी।

क्रं.सं.	शुल्क वितरण	शुल्क	भुगतान का प्रकार	देय
1	2	3	4	- 44
1	निविदा शुल्क	500/-	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	अायुक्त जोधपुर नगर निगम—दक्षिण
2	धरोहर राशि	उपरोक्तानुसार	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	आयुक्त जोधपुर नगर निगम–दक्षिण
3	ई–टेण्डरिंग प्रकिया शुल्क	50 लाख एवं उपर 1000/— 50 लाख से नीचे 500/—	डिमाण्ड ड्रॉफ्ट / बैंकर चैक	MD RISL, JAIPUR

नोट :- धरोहर राशि के रूप में कार्य की लागत की 2 प्रतिशत राशि जमा करवानी होगी, नियमानुसार निर्धारित श्रेणी में पंजीकृत संवेदकों को 0.5 प्रतिशत तक धरोहर राशि जमा करवाने के लिए छूट प्रदान की जाएगी।

प्रदत दरें निविदा खोलने की दिनांक से 90 दिवसों तक निविदा स्वीकृति हेतु मान्य (Vaild) रहेगी। यदि निविदाकर्ता उस अवधि में अपनी निविदा अथवा शर्तों में किसी प्रकार का संशोधन करता है अथवा अपनी निविदा वापस ले लेता है, तो उसकी धरोहर राशि जब्त कर ली जावेगी।

यदि संवेदक के नजदीकी रिश्तेदार (प्रथम रक्त सम्बन्धी व उनके पति / पत्नी) कार्य से संबंधित अधीनस्थ कार्यालय में खण्डीय लेखाकार अथवा सहायक अभियन्ता से लेकर अधीक्षण अभियन्ता स्तर का किसी भी स्तर पर पदस्थापित हो, तो उसके कार्य पर नियुक्त करने पर प्रतिबन्ध रहेगा।

- 10 राज्य सरकार में किसी भी अभियांत्रिकी विभाग में किसी भी इंजीनियर अथवा इंजीनियर या प्रशासनिक कार्य पर नियुक्त राजपत्रित अधिकारी राज्य की अनुमित के बिना सेवा निवृति के 2 वर्ष तक संवेदक अथवा उसके कर्मचारी के रूप में कार्य नहीं कर सकेंगे। यदि संवेदक अथवा उसके कर्मचारियों में कोई ऐसा व्यक्ति जिसने राज्य सरकार की उक्त लिखित अनुमित निविदा जमा कराने से पहले अथवा संवेदक के यहां से सेवायें लेने से पहले अनुमित नहीं ली है, तो अनुबन्ध रदद किया जा सकेगा।
- 11 किसी भी निविदा को स्वीकार करने एवं बिना कारण बताये निरस्त करने के समस्त अधिकार निम्नहस्ताक्षर कर्ता को रहेगा। RPWA 100 की समस्त शर्ते उस सीमा तक मान्य/लागु होगी जिस सीमा तक के राजस्थान लोक उपापन पारदर्शिता अधिनियम 2012 एवं नियम 2013 के विरोध में
- 12 उक्त आईटम की दोष निवारण अवधि राज्य सरकार द्वारा निर्धारित नोर्म्स के अनुसार होगी। निविदादाता को निविदा भरते समय साथ में निविदा शुल्क, धरोहर राशि, ई-टेण्डरिंग शुल्क Registration की प्रति को स्केन कर लगाना अनिवार्य है।
- 13 वित्तं विभागं के आदेश संख्या एफ—(1)एफ.डी./जी.एफ. एण्ड ए.आर./2007 दिनांक 30.09.11 (सर्कुलर नं. 19/2011) के अनुसार 50.00 लाख रूपये तक की राशि के कार्यों के लिए 500/- व 50.00 लाख रूपये से अधिक राशि के कार्यों के लिए 1000/- रूपये की राशि निविदा शुल्क के अतिरिक्त देनी होगी जो डिमाण्ड ड्राफ्ट या बैंकर चैक के रूप में देय होगी। यह डिमाण्ड ड्राफ्ट या बैंकर चैक मैनजिंग डायरेक्ट, आर.आई.एस.एल. के पक्ष में व जयपुर में भुगतान योग्य होना चाहिए।
- 14 नेगोशिएशन की आवश्यकता होने पर ई-मेल व पत्र द्वारा डाक से सूचित किया जायेगा।
- 15 निविदा शूल्क निम्नानुसार निर्धारित है -

50 लाख से कम अनुमानित लागत

रूपये 500 / -

50 लाख से 150 लाख तक अनुमानित लागत

रूपये 1000 /-

150 लाख से 400 लाख तक अनुमानित लागत 400 लाख से अधिक अनुमानित लागत

रूपये 2000 /-

रूपये 5000 /-

- इन निविदाओं में दिलचस्पी लेने वाले निविदा दाता निविदा प्रपत्रो का इन्टरनेट साईट http://www.eproc.rajasthan.gov.in से देख/डाउनलोड कर सकते है।
- निविदाओं में भाग लेने वाले निविदादाताओं को इन्टरनेट साईट http://www.eproc.rajasthan.gov.in पर रिजस्टर करवाना होगा। ऑन लाईन निविदा में भाग लेने के लिए डिजिटल सार्टिफिकेट है इनफोरमेशन टेक्नोलॉजी एक्ट 2000 के तहत प्राप्त करना होगा जो इलेक्ट्रोनिक निविदा में साईन करने हेतु काम आयेगा। निविदादाता उपरोक्त डिजिटल सर्टिफिकेट सी.सी.ए. द्वारा स्वीकृत एजेन्सी से प्राप्त कर सकते है। जिन निविदादाताओं के पास पूर्व में वैध डिजिटल सर्टिफिकेट है, नया डिजिटल लेने की आवश्यकता नहीं है।
- निविदादाताओं को निविदा प्रपत्र इलेक्ट्रोनिक फार्मेट में उपरोक्त वेबसाइट पर डिजिटल साईन के साथ प्रस्तुत करना होगा। जिसके प्रस्ताव अकेले भौतिक फॉर्म में स्वीकार्य नहीं होगा।
- इलेक्ट्रोनिक निविदा प्रपत्रों को जमा कराने से पूर्व निविदादाता यह सुनिश्चित कर लेवे की निविदा प्रपत्रों से संबंधित सभी आवश्यक दस्तावेजों की स्केन कॉपी निविदा प्रपत्रों के साथ अटेच कर दी गयी है।
- कोई भी टेण्डर इलेक्ट्रोनिकली जमा कराने से किसी कारण से लेट हो जाता है तो उसका जिम्मेदार विभाग नहीं होगा।
- टेण्डर के प्रपत्रो में आवश्यक सभी सूचियों को सम्पूर्ण रूप से भरकर ऑन लाईन दर्ज करे।
   17 निविदायें राजस्थान लोक उपापन पारदर्शिता अधिनियम 2012 एवं नियम 2013 के अन्तर्गत आमंत्रित की जाती है। उपर अंकित समस्त प्रावधान / बंधन उस सीमा तक ही लागु होंगे जिस सीमा तक दे उस बिन्दु में उल्लेखित अधिनियम एवं नियमों के विरूद्ध नहीं हो।
- 18 संवेदक द्वारा प्रस्तुत की गयी दरें एक वर्ष तक मान्य होगी।
- 19 राजकीय अवकाश भी स्थिति में आगामी कार्य दिवस की तिथि मान्य होगी।
- 20 श्रीमान निदेशक, स्वायत शासन विभाग, राजस्थान जयपुर के आदेश क्रमांक 144612-825 दिनांक 22.11.021 की पालना में वित्त विभाग की अधिसूचना आर.टी.पी.पी. नियम 2013 में Additional Performance Security के लिये नियम 75-ए के अनुसार Additional Performance Security जमा करवानी होगी

(अरूण कुमार पुरोहित) R.A.S. आयुक्त नगर निगम जोधपुर—दक्षिण

## नगर निगम जोधपुर-दक्षिण

क्रमांकः— न.नि.जो.—दक्षिण / विकास / 2022—23 / **3 5 0** 

दिनांक:- 22/7/2022

	ः ई–निविदा सूचना ःः	
(UB No.		.)

नगर निगम जोधपुर—दक्षिण की ओर से विभिन्न सिविल कार्यो हेतु ऑनलाईन ई—निविदाएं आमंत्रित की जाती है। ई—निविदा से संबंधित कार्यो की विस्तृत जानकारी, निविदा की शर्ते आदि http://eproc.rajasthan.gov.in, www.sppp.rajasthan.gov.in एवं www.urban.rajasthan.gov.in पर देखी जा सकती है।

(वनिता सेठ) महापौर नगर निगम जोधपुर—दक्षिण (अरूण कुमार पुरोहित)
R.A.S.
आयुक्त
नगर निगम जोधपुर—दक्षिण
दिनांक:- 22/7/2022

कमांकः – न.नि.जो. – दक्षिण / विकास / 2022 – 23 / 351 to 58 प्रतिलिपी : – सूचनार्थ एवं आवश्यक कार्यवाही हेतु।

- 1. श्रीमान जिलां कलेक्टर महोदय, जोधपुर।
- निदेशक / अधीक्षण अभियन्ता, स्थानीय निकाय विभाग, जयपुर।
- अधीक्षण अभियन्ता / अधिशाषी अभियन्ता, सा.नि.वि. / जोधपुर विकास प्राधिकरण / नगर निगम जोधपुर।
- 4. वरिष्ठ लेखाधिकारी, जोधपुर नगर निगम ।
- ई-निविदा राज्य स्तरीय समाचार पत्र दैनिक नवज्योति व क्षेत्रीय समाचार पत्र दैनिक पर्यटन बाजार को वास्ते नियमानुसार प्रकाशन हेतु।
- 6. श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोधपुर दक्षिण को भेजकर लेख है कि एवं ई—निविदा सूचना (1) urban.rajasthan.gov.in/mcjs (2) sppp.rajasthan.gov.in पर अपलोड करें।
- 7. संबंधित सहायक अभियन्ता को भेजकर लेख है कि उपरोक्त ई—निविदा के कार्यो की जी—सारणी एवं ई—निविदा सूचना http://eproc.rajasthan.gov.in पर अपलोड करावे।
- 8. सूचना पट्ट जोधपुर नगर निगम।

(अरूण कुमार पुरोहित) R.A.S. आयुक्त नगर निगम जोधपुर—दक्षिण

# OFFICE OF THE NAGAR NIGAM JODHPUR SOUTH

NIT No.	<u>GSCHEDULE</u>
NIT No date	Sr No
Date of Receipt :-	Earnest Money : Rs
Copy issued to M/s	CR No Dated

S.	ltem	n .				RUIDP BSR 202
No	No.	Particulars	Qty.	Unit	Rate	Amount
		Transplantation of trees with in a distance of 2km including excavation around existing tree, pruning of branches, lifting, loading and transportation of existing tree, digging pits for placing tree at new place, adding manure, sand, fertilizer, hormones and bio fertilizer to it. Levelled and neatly dressed and disposal of surplus materials from old existing and new sites to designated place. Each tree should be firmly secured to the stake so as toprevent excessive movement, flooding with water, treatment of roots, rope and gunny bags as per direction of the officer incharge. T&P and all required materials shall be pair anged by the contractor and nothing extra shall be paid on this account.  NOTE: Girth of tree shall be measured at a height of the aboveground level. Girth of trees beyond 150cm.				
+	- 6	Girth of trees upto 50cm.	10.00	EACH	3825.00	38250.00
+		Girth of trees beyond 50cm and upto 90cm	124.00	EACH	6190.00	767560.00
+		Birth of trees beyond 90cm and upto 150cm.	110.00	EACH	11550.00	1270500.00
+		Pirth of trees beyond 150cm.	16.00	EACH	26900.00	430400.00
+		TOTAL				2506710.00
$\perp$		SAY				25.06 Lakh

#### **Special Conditions:**

- 1. The all lead of transplantation of big trees up to transplation site is included in above SOR Rates.
- 2. Agency will be paid 60% of above item after translation of trees at selected site
- 3. Agency will be paid 20% of above item for maintenance and this payment will be made on monthly basis for those plant which successfully survived, no payment will be made to Agency for the trees got dried/dead during maintenance period

- 4. Agency will be paid remaining 20% of above item, will only be made for successful and blossomed trees after
- 5. Agency will be responsible for the watch and good care of transportated trees and hand over of the trees in good condition after I year of maintenance to NNJ(S).

- 1. सभी प्रकार के कर (टैक्स) संवेदक प्तारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3. जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य रांवेदक द्वारा दी गई दरों के आधार पर करवाय जा सकेंगे।
- कार्य स्थल पर कार्य संग्वंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- टंकण तुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य रथल की फोटो/विडियोग्राकी सीठी आवश्यक रूप से कार्यालय में जमा करान
- दोष निवारण अविध नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुवन्ध के जमा कराना होगा ।

**EXECUTIVE ENGINEER** NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work as per Special Conditions & above. Terms & conditions@ Above/below the "G" Schedule.

(Signature of Contractor)

# JODHPUR NAGAR NIGAM, SOUTH

RUIDP BSR 2022

G-SCHEDULE

NIT No.

Date

Last Date of Sale :-

Earnest Money : Rs.

2

Dated

	Date of Receipt -	R No Da			
Nam	e of Work- Construction of Indiration of Ind	vai a	t(A) to	buli De	t hospital
	IMC Sout	h.			
S.No.	Item	Qty	Unit	Rate	Ammount
1	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In hard rock (Blasting prohibited) Depth upto 1.5 m	119.67	cum	269.00	32191.23
2	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size).	23.95	Cum	4340.00	103943.00
3	Random rubble masonry with hard stone in foundation and plinth :Cement mortar 1:6 (1 cement : 6 coarse sand)	70.92	Cum	4245.00	301055.40
4	Brick work with FPS bricks of class designation 75 in superstructure above plinth level upto two stories in all shapes and sizes in :Cement mortar 1:6 (1 cement : 6 coarse sand)	64.97	cum	5750.00	373577.50
5	Half brick masonry with FPS bricks of class designation 75 in superstructure above plinth level upto two stories Cement mortar 1:4 (1 cement :4 coarse sand)	24.75	Sqm.	704.00	17424.00
6	S&F following sizes (dia.) of ISI marked MMS (IS:9537 P - III) vergin material PVC conduit as per PWD specification for electrical Works along with its accessories (IS: 3419) as required in recess including cutting the wall, covering conduit and making good the same as required. All relative and latest acceptance tests reports by any NABL accredited lab for the conduit shall be submitted before execution & All as per pre approved by Engineer in charge. For additional technical parameters of products/ work, refer Annexure "A" attached with this BSR MMS (IS:9537 P - III) PVC conduit 25 mm	90.00	rmt	37.00	3330.00
7	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:6 (1 cement: 6 fine/ coarse sand)	644.40	Sqm	264.00	170121.60
8	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded upto plinth level 1:2:4 (1 cem	7.68	cum	5360.00	41164.80

upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)

	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the unctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross plece.	35.64	Sqm.	3565.00	127056.60
0	Providing and fixing GI wire gauge of average width of aperture  1.56mm with wire of 0.45mm to existing steel door, window shutter frames with necessary M.S. strip beading 20x3mm with suitable screw at not exceeding 150mm distance etc. complete	12.96	sqm	595.00	7711.20
11	Providing & Fixing in position, MS fabrication work using angles, sqr tubes, c channels etc for various partition frame as per Design & Instructions & Complete in all aspects . including all materials  labour, finishing etc complete	300.00	kg	88.10	26430.00
12	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade New work (two or more coats) over and including priming coat with cement primer.	308.70	Sqm	125.00	38587.50
13	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm).	353.16	Sqm	85.40	30159.86
14	Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/ 10 sqm of approved brand or manufacture	35.64	_Sqm	115.00	4098.60
15	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer 110 mm dia	18.0	metre	300.50	5409.00
1	In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	2100.0	Kg	117.50	246750.00
1	Providing corrugated asbestos cement 6 mm thick sheer roofing and fixing with GI, J or L-hooks, bolts and nuts 8 mm d GI plain and bitumen washers complete excluding the cost purlines, rafters and trusses: Above 600 pitch.	ia:	sqm	311.00	40632.15
:	Kota stone slab flooring 25mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mixe with pigment to match the shade of the slab including rubbin and polishing complete with base of cement mortar 1:4 (1 cement: 4 coarse sand): Area of each slab 900 to 2000 square.	ng 50.9		1299	66054.15

	19	Wiring of light point/ fan point/ exhaust fan point/ call bellpoint with 1.5 sq. mm FR PVC insulated unsheathedflexible copper conductor 1.1 kV grade and 1.5 sq.mmFR PVC insulated unsheathed flexible copper earthconductor 1.1 kV grade (IS:694) of approved make insurface / recessed ISI marked medium duty PVCconduit & it's accessories, round tiles,18 SWG M.S. boxwith earth terminal, screwless cage connectors forneutral looping in switch board & false ceiling point. 6	21.00	Point	183.00	3843.00
		(D) Medium point (upto 6 mtr.)	21.00	Delat		
		(c ) Long point (upto 10 mtr.)	21.00	Point	299.00	6279.00
	20	Wiring of 3 pin 5 amp. light plug point with 1.5 sq. mm FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq.mm FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS:694) of approved make in surface / recessed ISI marked medium duty PVC conduit & it's accessories, 18 SWG M.5. box with earth terminal, screwless cage connectors for neutral looping in switch board & false ceiling point, 6 A switch, 6 A socket, 3.0 mm thick phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required. On board	21.00	Point	89.00	1869.00
. •	21	P & F double ball bearing capacitor start ceiling fan of approved make complete with regulator and other accessories as required. (for estimation purpose only) 1200 mm sweep	12.00	Each	1481.00	17772.00
2	22	P&F 240/415 V MCB of breaking capacity not less than 10 KA (B/ C/ D tripping characteristic) ISI marked IS 9839/1006 V	9.00	Nos.	161.00	1449.00
	23	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint)/(extruded non corrosive UV resist EP channel) complete with accessories like (OCCB, starter, starter seat)/ EB, rotor holder, terminal block duly prewired with copper conductor including making connection, testing etc. as required. ( without tube 1 X 36 Watts with EB	18.00	Each	287.00	5166.00
	24	P & F surface/recessed type 10 mm thick Teak wood board duly antitermite treated, varnished and fixed by using gutties/ PVC fasteners of following size as required 250 mm x 300 mm	15.00	Each	36.00	540.00
	25	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	3000	per litre	8.8	26400.00
	26	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings. This included jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge. External work	0			0.00
		15 mm nominal outer dia .Pipes	60	metre	187	4400
		25 mm nominal outer dia .Pipes	60	metre	307.5	11220.00
	27	Providing and fixing brass bib cock of approved quality :15 mm nominal bore	15	Nos	311.5	18450.00 4672.50
	28	Providing and fixing brass stop cock of approved quality 15 mm nominal bore	6	Nos	333	1998.00

×

					1747466.09
33	Supply of Horizontal Foot Mounted IE2 type 2 Pole TEFC, S1 duty, IP-55, 415 Volts Squirrel cage Enclosure confirming to protection IP55 suitable for operation on 415 +/- 10%V, 3 Phase 50 HZ +/- 5% AC supply with ambient 50 C class F insulation with temperature rise limited to class B Induction Motors confirming to IS-325 & IS 12615 - 2011 with latest amendments of the following rating0.55 KW	3	Each	6950	20850 00
32	Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040 mm bowl depth 250mm	3	Each	4920	14760.00
31	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps.	3	Each	2620	7860.00
30	90mm average thickness from approved quarry including filling of joints slab in cement sand mortar 1:4 with ceiling pointing in cement sand mortar 1:3 complete as per specification for span Above 3.00 metre and up to 3.30 metre	27.00	sqm	1398.00	37746.00
9	Constructing masonry Chamber 30x30x50 cm, inside with 75 class designation brick work in cement mortar 1:4 (1 cement : 4 coarse sand) for stop cock, with C. I. surface box 100x100 x75 mm (inside) with hinged cover fixed in cement concrete slab 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) necessary excavation foundation concrete 1:5:10 (1.cement: 5 fine sand:10 graded stone aggregate 40mm nominal size) and inside plastering with cement	3	Each	1237	3711.00

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगे।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- ठंकण तुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- कार्य करने से पुर्व एवं कार्य करने के परचात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगे।
- दोष निवारण अविध नियमानुसार रहेगी ।
- दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

Sp. Bulk

EXECUTIVE ENGINEER
NAGAR NIGAM SOUTH JODHPUR

Above/below the "G" Schedule.

(Signature of Contractor)

# JODHPUR NAGAR NIGAM, SOUTH

G-SCHEDULE

RUIDP BSR 2022

NIT No.	Date
Last Date of Sale	
Date of Receipt -	

Sr No. 3

Earnest Money : Rs. ....

Copy issued to M/s

CR No. ...... Dated ......

Name of Work - Construction of Indira Rasoi at (A) Shikargarh mini market, (B) Kalvi pyau bus stand, (C) Digadi t junction police chowki ke bayi taraf and (D) Koks kutir pyau in Jodhpur nagar nigam south

5.N	ltem				1
		Qty	Unit	Rate	Ammount
1	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In hard rock (Blasting prohibited) Depth upto 1.5 m	159.55	cum	269.00	42919.49
2	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:4:8 (1 Cement: 4 fine/coarse sand: 8 graded stone aggregate 40 mm nominal size).	31.93	Cum	4340.00	138567.52
3	Random rubble masonry with hard stone in foundation and plinth :Cement mortar 1:6 (1 cement : 6 coarse sand)	94.55	Cum	4245.00	401381.73
4	Brick work with FPS bricks of class designation 75 in superstructure above plinth level upto two stories in all shapes and sizes in :Cement mortar 1:6 (1 cement : 6 coarse sand)	86.63	cum	5750.00	498093.75
5	Half brick masonry with FPS bricks of class designation 75 in superstructure above plinth level upto two stories Cement mortar 1:4 (1 cement :4 coarse sand)	33.00	Sqm.	704.00	23232.00
5	S&F following sizes (dia.) of ISI marked MMS (IS:9537 P - III) vergin material PVC conduit as per PWD specification for electrical Works along with its accessories (IS: 3419 ) as required in recess including cutting the wall, covering conduit and making good the same as required. All relative and lafest acceptance tests reports by any NABL accredited lab for the conduit shall be submitted before execution & All as per pre approved by Engineer in charge. For additional technical parameters of products/ work , refer Annexure "A" attached with this BSR . •MMS (IS:9537 P - III) PVC conduit 25 mm	120.00	rmt	37.00	4440.00
	Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of joints etc. with 20 mm cement plaster of mix: 1:6 (1 cement: 6 fine/ coarse sand)	859.20	Sqm	264.00	226828.80
-	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	10.23	cum	5360.00	54832.80

T					
9	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece.	47.52	Sqm.	3565.00	169408.80
10	Providing and fixing GI wire gauge of average width of aperture 1.56mm with wire of 0.45mm to existing steel door, window shutter frames with necessary M.S. strip beading 20x3mm with suitable screw at not exceeding 150mm distance etc. complete	17.28	sqm	595 00	10281.60
11	Providing & Fixing in position, MS fabrication work using angles, sqr tubes, c channels etc for various partition frame as per Design & Instructions & Complete in all aspects . including all materials  labour, finishing etc complete	400.00	kg <sup>.</sup>	88.10	35240.00
12	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade New work (two or more coats) over and including priming coat with cement primer.	411.60	Sqm	125.00	51450.00
13	Finishing walls with water proofing cement paint of required shade :New work (Two or more coats applied @ 3.84 kg/10 sqm).	470.88	Sqm	85.40	40213.15
14	Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/ 10 sqm of approved brand or manufacture	47.52	Sqm	115.00	5464.80
15	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer 110 mm dia	24.0	metre	300.50	7212.00
16	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	2800.0	Кg	117.50	329000.00
17	Providing corrugated asbestos cement 6 mm thick shee roofing and fixing with GI, J or L-hooks, bolts and nuts 8 mm di GI plain and bitumen washers complete excluding the cost of purlines, rafters and trusses: Above 600 pitch.	a	sqm	311.00	54176.20
18	Kota stone slab flooring 25mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mixed with pigment to match the shade of the slab including rubbin and polishing complete with base of cement mortar 1:4 (1 cement: 4 coarse sand): Area of each slab 900 to 2000 sqcm	g 67.8	Sqn	1299	88072.20

	Wiring of light point/ fan point/ exhaust fan point/ call ellpoint with 1.5 sq. mm FR PVC insulated unsheathedflexible apper conductor 1.1 kV grade and 1.5 sq.mmFR PVC insulated unsheathed flexible copper earthconductor 1.1 kV grade (15.694) of approved make insurface / recessed ISI marked nedium duty PVCconduit & it's accessories, round tiles,18 SWG M.S. boxwith earth terminal, screwless cage connectors forneutral looping in switch board & false ceiling point. 6	88.00	Point	183.00	5124 00
-	11.1.4.	20.00	Dates	000.00	8372.00
		28,00 28,00	Point Point	299 00 400 00	11200.00
	(e) round point (opilo to mitt.)	26.00	Point	400 00	11250.55
20	Wiring of 3 pin 5 amp. light plug point with 1.5 sq. mm FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS:694) of approved make in surface / recessed ISI marked medium duty PVC conduit & It's accessories, 18 SWG M.S. box with earth terminal, screwless cage connectors for neutral looping in switch board & false celling point, 6 A switch, 6 A socket, 3.0 mm thick phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required. On board	28.00	Point	89.00	2492.00
21	P & F double ball bearing capacitor start ceiling fan of approved make complete with regulator and other accessories as required. (for estimation purpose only) 1200 mm sweep	16.00	Each	1481.00	23696 00
22	P&F 240/415 V MCB of breaking capacity not less than 10 KA (B/C/ D tripping characteristic) ISI marked IS 8828(1996)]/ conforming to IEC 60898 in existing board/sheets including making connections with lugs, testing etc. as required. Single pole MCB 6 A to 32 A rating	12.00	Nos.	161 00	1932.00
2	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint)/(extruded non corrosive UV resist EP channel) complete with accessories like (OCCB, starter, starter seat)/ EB, rotor holder, terminal block duly prewired with copper conductor including making connection, testing etc. as required. ( without tube 1 X 36 Watts with EB	24 00	Each	287.00	6888.00
	P & F surface/recessed type 10 mm thick Teak wood board duly antitermite treated, varnished and fixed by using gutties/ PVC fasteners of following size as required 250 mm x 300 mm	20.00	Each	36.00	720.00
	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	4000	per litre	a 8.8	35200 <b>00</b>
	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold wate supply including all CPVC plain & brass threaded fittings. This included jointing of pipes & fittings with one step				0 00
	26 CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge.  External work			72	
	26 CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge.  External work	80			
	26 CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge.  External work  15 mm nominal outer dia. Pipes	80			
	26 CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge.  External work	80 80 15 20	) met	re 307.5	14960 <b>00</b> 24600 <b>00</b> 6230 <b>00</b>

	rating0.55 KW				
33	Supply of Horizontal Foot Mounted IE2 type 2 Pole TEFC, S1 duty, IP-55, 415 Volts Squirrel cage Enclosure confirming to protection IP55 suitable for operation on 415 +/- 10%V, 3 Phase 50 HZ +/- 5% AC supply with ambient 50 C class F insulation with temperature rise limited to class B Induction Motors confirming to IS-325 & IS 12615 - 2011 with latest amendments of the following	4	Each	6950	27800.00
32	Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040 mm bowl depth 250mm	4	Each	4920	19680.00
31	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps.	4	Each	2620	10480.00
30	90mm average thickness from approved quarry including filling of joints slab in cement sand mortar 1:4 with ceiling pointing in cement sand mortar 1:3 complete as per specification for span Above 3.00 metre and up to 3.30 metre	36.00	sqm	1398.00	50328.00
29	Constructing masonry Chamber 30x30x50 cm, inside with 75 class designation brick work in cement mortar 1:4 (1 cement : 4 coarse sand) for stop cock, with C. I. surface box 100x100 x75 mm (inside) with hinged cover fixed in cement concrete slab 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) necessary excavation foundation concrete 1:5:10 (1 cement : 5 fine sand:10 graded stone aggregate 40mm nominal size) and inside plastering with cement	4	Each	1237	4948.00

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगे।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- दरें 4 माह तक मान्य रहेगी
- 9 संशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule

(Signature of Contractor

### JODHPUR NAGAR NIGAM, SOUTH

G-SCHEDULE

NIT No.

Last Date of Sale

Earnest Money : Rs.

Date of Receipt -

CR No. ..... Dated. .....

Copy issued to M/s

"Construction of Endura Rosai at (A) Itala mand circle (B) Main Radiucy Harlison (c) shahi cyrcled Rathanda Salati Mandi (D) A mait devi civale (Pank) in Jollym Nator Nalgam South S.No. Ammount Unit Rate Qty Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ 42919.49 269.00 foundation and disposal of surplus excavated material at a lead 159.55 cum upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In hard rock (Blasting prohibited) Depth upto 1.5 m Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work 2 4340.00 138567.52 31.93 Cum upto plinth level 1:4:8 (1 Cement : 4 fine/ coarse sand : 8 graded stone aggregate 40 mm nominal size). Random rubble masonry with hard stone in foundation and 94.55 Cum 4245.00 401381.73 3 plinth :Cement mortar 1:6 (1 cement : 6 coarse sand) Brick work with FPS bricks of class designation 75 in 5750.00 498093.75 superstructure above plinth level upto two stories in all shapes 86.63 and sizes in :Cement mortar 1:6 (1 cement : 6 coarse sand) Half brick masonry with FPS bricks of class designation 75 in 23232.00 33.00 Sqm. 704.00 superstructure above plinth level upto two stories Cement 5 mortar 1:4 (1 cement :4 coarse sand) S&F following sizes (dia.) of ISI marked MMS ( IS:9537 P - III ) vergin material PVC conduit as per PWD specification for electrical Works along with its accessories (IS: 3419 ) as required in recess including cutting the wall, covering conduit and making good 4440.00 37.00 the same as required. All relative and latest acceptance tests 120.00 rmt 6 reports by any NABL accredited lab for the conduit shall be submitted before execution & All as per pre approved by Engineer In charge. For additional technical parameters of products/ work , refer Annexure "A" attached with this BSR MMS (15:9537 P - III ) PVC conduit 25 mm Cement plastering including T&P, scaffolding, material and complete labpour, including cost of water, curing, racking of Sqm 264.00 226828.80 859.20 joints etc. with 20 mm cement plaster of mix : 1:6 (1 cement : 6 7 fine/ coarse sand) Providing and laying in position cement concrete of specified

grade excluding the cost of centring and shuttering - All work

upto plinth level 1:2:4 (1 cement : 2 coarse sand : 4 graded

stone aggregate 20 mm nominal size)

8

٢

54832.80

5360.00

cum

10.23

	Providing and fixing 1mm thick M.S. sheet door with frame of 40x40x6mm angle iron and 3mm M.S. gusset plates at the unctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece.	47.52	Sqm.	3565.00	169408.80
.0	Providing and fixing GI wire gauge of average width of aperture 1.56mm with wire of 0.45mm to existing steel door, window shutter frames with necessary M.S. strip beading 20x3mm with suitable screw at not exceeding 150mm distance etc. complete	17.28	sqm	595.00	10281.60
11	Providing & Fixing in position, MS fabrication work using angles, sqr tubes, c channels etc for various partition frame as per Design & Instructions & Complete in all aspects . including all materials  labour,finishing etc complete	400.00	, kg	88.10	35240.00
12	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade New work (two or more coats) over and including priming coat with cement primer.	411.60	Sqm	125.00	51450.00
13	Finishing walls with water proofing cement paint of required shade: New work (Two or more coats applied @ 3.84 kg/10 sqm).	470.88	Sqm	85.40	40213.15
14	Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/ 10 sqm of approved brand or manufacture	47.52	Sqm	115.00	5464.80
15	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer 110 mm dia	24.0	metre	300.50	7212.00
16	Steel work welded in built up sections/ framed work including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required in gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	2800.0	Kg	117.50	329000.00
1	Providing corrugated asbestos cement 6 mm thick she roofing and fixing with GI, J or L-hooks, bolts and nuts 8 mm d GI plain and bitumen washers complete excluding the cost purlines, rafters and trusses: Above 600 pitch.	ia	0		54176.20
1	Kota stone slab flooring 25mm thick over 20 mm (average) thick base laid over and jointed with grey cement slurry mix with pigment to match the shade of the slab including rubbi and polishing complete with base of cement mortar 1:4 (cement: 4 coarse sand): Area of each slab 900 to 2000 sqc	ed ng 67.8	0,10		88072.20

1	Wiring of light point/ fan point/ exhaust fan point/ call Delipoint with 1.5 sq. mm FR PVC insulated unsheathedflexible Copper conductor 1.1 kV grade and 1.5 sq. mm FR PVC in the process of the point in the process of the process o				
1	(IS:694) of approved make insurface / recessed ISI marked medium duty PVCconduit & it's accessories, round tiles, 18 SWG M.S. boxwith earth terminal, screwless cage connectors forneutral looping in switch board & false ceiling points.	28.00	Point	183.00	5124.00
	(o) Medium point (unto 6 mts.)	28.00	Point		_
	(c) Long point (upto 10 mtr.)	28.00	Point	299.00	8372 00
20	Wiring of 3 pin 5 amp. light plug point with 1.5 sq. mm FR PVC insulated unsheathed flexible copper conductor 1.1 kV grade and 1.5 sq. mm FR PVC insulated unsheathed flexible copper earth conductor 1.1 kV grade(IS:694) of approved make in surface / recessed ISI marked medium duty PVC conduit & it's accessories, 18 SWG M.S. box with earth terminal, screwless cage connectors for neutral looping in switch board & false celling point, 6 A switch, 6 A socket, 3.0 mm thick phenolic laminated sheet, zinc plated / brass screws, cup washers, making connections, testing etc. as required. On board	28.00	Point	400.00 89.00	11200 00 2492 00
21	P & F double ball bearing capacitor start ceiling fan of approved make complete with regulator and other accessories as required. (for estimation purpose only) 1200 mm sweep	16.00	Each	1481.00	23696 00
22	P&F 240/415 V MCB of breaking capacity not less than 10 KA (B/ C/ D tripping characteristic) ISI marked IS 8828(1996)]/ conforming to IEC 60898 in existing board/sheets including making connections with lugs, testing etc. as required. Single pole MCB 6 A to 32 A rating	12.00	Nos	161.00	1932 00
23	P & F strip type fluorscent tube fitting fabricated from (CRCA sheet and finished with powder coating / stove enamelled paint)/(extruded non corrosive UV resist EP channel) complete with accessories like (OCCB, starter, starter seat)/ EB, rotor holder, terminal block duly prewired with copper conductor including making connection, testing etc. as required. ( without tube 1 X 36 Watts with EB	24.00	Each	287.00	6868.00
24	P & F surface/recessed type 10 mm thick Teak wood board du antitermite treated, varnished and fixed by using guttles/ PVC fasteners of following size as required 250 mm x 300 mm	ly C 20.0	0 Eac	h 36.00	720.00
2	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked witl cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	400	0 per	itre 8.8	35200.00
2	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold wa supply including all CPVC plain & brass threaded fitting This included jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing o joints complete as per direction of Engineer in Charge External work	gs. o f			0.00
	15 mm nominal outer dia .Pipes	1	80 m	netre 18	
			80 n	netre 307	.5 24600 00
-	Providing and fixing brass bib cock of approved quality		20	Nos 311	
H	28 Providing and fixing brass stop cock of approved que	ality	8	Nos 33	33 2664.00

8-2-

9	Constructing masonry Chamber 30x30x50 cm, inside with 75 class designation brick work in cement mortar 1:4 (1 cement: 4 coarse sand) for stop cock, with C. I. surface box 100x100 x75 mm (inside) with hinged cover fixed in cement concrete slab 1:2:4 mix (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size) necessary excavation foundation concrete 1:5:10 (1 cement: 5 fine sand:10 graded stone aggregate 40mm nominal size) and inside plastering with cement	4	Each	1237	4948.00
30	Stone slab roofing on ground floor with fine grained stone slab 90mm average thickness from approved quarry including filling of joints slab in cement sand mortar 1:4 with ceiling pointing in cement sand mortar 1:3 complete as per specification for span Above 3.00 metre and up to 3.30 metre	36.00	sqm	1398.00	50328.00
31	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps.	4	Each	2620	10480.00
32	Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required: Kitchen sink with drain board 510x1040 mm bowl depth 250mm	4	Each	4920	19680.00
33	Supply of Horizontal Foot Mounted IE2 type 2 Pole TEFC, S1 duty, IP-55, 415 Volts Squirrel cage Enclosure confirming to protection IP55 suitable for operation on 415 +/- 10%V, 3 Phase 50 HZ +/- 5% AC supply with ambient 50 C class F insulation with temperature rise limited to class B Induction Motors confirming to IS-325 & IS 12615 - 2011 with latest amendments of the following rating 0.55 KW	4	Each	6950	27800. <b>00</b>
	Taurigo.55 TCT				2329840.84

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेंगे।
- 2. कार्य स्थल पर अमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दशनि वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पूर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो / विडियोग्राफी सीडी आवश्यंक रूप से कार्यालय में जमा कराने होगें।
- दोष निवारण अविध नियमानुसार रहेगी ।
- दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

NAGAR NIGAM SOUTH JODHPUR

\_\_\_\_ Above/below the "G" Schedule. I/We hereby agree to do the above work (a) \_\_\_ (Signature of Contractor)

# OFFICE OF THE MUNICIPAL CORPORATION, JODHPUR G-SCHEDULE Date Sr No. 5

NIT No.

Nar	me of Work - Construction Of C.C Road Khe various place of W.No 20	of Sc	uth Zo	ne	n.R. tyre and
-					
s	Particulars	Qty.	Unit	Rate	Amount
1	Dismantling of flexible pavements and disposal of dismantled materials up to a lead of 50 metres as directed by Engineer Granular courses	274.05	cum	206.00	56454.30
2	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H	522.00	Cum	145.00	75690.00
3	than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance	261.00	Cum	2300.00	600300.00
4	Providing and laying un-reinforced, plain cement concrete mix with Concrete Mixer & vibrator pavement over a prepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, aximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid, spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints etc including ell meterial, labour, machinery, lighting, guarding and maintenance of diversion. PCC	392.00	Cum	4700.00	1842400.00
	M-20 Raising circular manhole with circular cover 560mm dia and frame slab to required level including dismantling existing slab, taking out the existing CI frame & cover of manhole and raising it upto ground/ road level, refixing of frame and cover in M15 (1:2:4) concrete all around the frame, including making good the damage, form work, curing, complete as directed by Engineer. (Brick work of raising depth of manhole to be paid separately)		each	445.00	0.00

6	Carriage of Materials by mechanical,transport, including loading, unloading and stacking Sand, bazri, ballast, kankar for lead 5 Km	796.05	Cum	132.00	105078.60
	Dallast, Karikai Tol Tead S Kill				2623468.60

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को
- 5 टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की
- दोष निवारण अविध नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।

EXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule.

(Signature of Contractor)